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PROFESSIONAL EXAMINATION BOARD

Group 2 Lab Technician 2015

CBZ 17th Oct 2015, 09:00 AM

Topic:- General Knowledge
1))

Question Stimulus :-

Which of the following city was famous as “Gibraltar” of India?

AT 7 A FleT TT AT HRT & e FaA A IRC 2

Indore/ Sa’h'
Gwalior/ Ta1felaY

Jabalpur/ STqelqY

Balaghat/ dTelTdTC
Correct Answer :-
Gwalior/ FaTferay

2)

Question Stimulus :-

Plateau of Malwa is made up of?

AT FT IoR fFa AN T a1 2

Rich Soil / ¥9% A

Red and Yellow Soil / ater T diely A

Black Soil / #1elt AEY

Alluvial Soil / Fo18 A2

Correct Answer :-

Black Soil / FTell A2

3)
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Question Stimulus :-

The objective of Deendayal Employment plan is:
AT VSR AVST=IT T 3837 FAT 87
e To provide employment opportunities to the unemployed workers of unorganized sector./
TS 817 & AR AT T USIR & IHTET TGTT FIAT
e To provide employment opportunities to the educated unemployed./
A& TSR Y AR F T YTl FIAT
e To provide employment opportunities to the migrated unemployed persons./

YT SRS ATl Y VSR F HTEI TGToT HIAT
o None of these./ 38 & FS =TT

Correct Answer :-

To provide employment opportunities to the educated unemployed./ R8T STSTIRY FY AR &
HIHT UcTel el

4)
Question Stimulus :-

Match the correct Panchayat according to the population:

Panchayat

Population
(a) Village panchayat (1) More than 50000
(b) Janpad panchayat (i1) More than 1000
(c) Zila panchayat (111) More than 5000

FAHEHT F HTAR Y T Y fAameT #3:

(a) TTH T (i) 50000 T 37T
(b) STeTUG, TATId (ii) 1000 & 31T&R
OIEGCIEEIRS (iii) 5000 & 318
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A B |[C
(i) i) KD

A B |C
(1) |(1) [(i1)

A |B C
(1) () (D)

A B |C
(iii) |(i) }(D)

Correct Answer :-
A B C

(i) i) (D)

5)
Question Stimulus :-

Who is the current speaker of Madhya Pradesh Vidhan Sabha?

AET Y22T TAUTHAHAT F TAATT HeTeT i £2

Krishna Chaubey./ For 31
¢ H.S. Kamath./ T, TH. hIHY

Sitasharan Sharma./ dYaT 0T QAT

Kagodu Thimmappa./ #1erg f&aecar

Correct Answer :-Sitasharan Sharma./ a1 0T erAT

6)
Question Stimulus :-

India’s first Ramayan art museum was established at:
R T gl THATIVT Fell HAETIT Fgl FAMAT 3T 32
e Bilaspur, C.G./ e gy, &.4T.

e Indore, M.P./ ga’n, HAY.
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e Damoh, M.P./ SHIE, #.Y.

e Orchha, M.P./ 33T, #.9.
Correct Answer :-Orchha, M.P./ 313®T, A.¥.
7)
Question Stimulus :-

At Dongliya village Madhya Pradesh, the Prime Minister inaugurated which of the following
power plants?

HET S & SHTfordT 3T 7 WerreT #3t F forg W9 1 3gume fFarg?

Shree Singaji Solar plant./ 3t R st @k ot a9

Biogas plant./ sy 3w @

Shree Singaji Thermal power plant./ s R st Reg am w@=

Wind power plant./ 9deT oIt 9T

Correct Answer :-Shree Singaji Thermal power plant./ st ¥ st fagg a9 @+
8)
Question Stimulus :-

Swachhata Sangraam Abhiyan’s aim is to:

TITO AT GATH ATRIA F1 3829-

To make entire Indore district open defecation free./

Feqot 5 fore Y gar et & a7 e

To make entire Hoshangabad district open defecation free./

YT GG forer Y Gt Ater @ FFa e

To make entire indore disctrict garbage & sewage free./

FFOT SR e &t ey T Waer & Fad Fe

To make entire Hoshangabad district garbage & Sewage free./
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FFQUT ghmTreTe foreh Y o FET T Wder § JFd HlaAl
Correct Answer :-
To make entire Indore district open defecation free./ ¥Fqo $aR forar wt gat ot & FFa F@n
9)
Question Stimulus :-

Which is the first railway zone to eliminate unmanned level crossing?

AT Ued ToT HIFAT Y WA FI 1T I8 T I 83T hieT AT 82

West Central Railway zone, headquartered at Jabalpur./

Ifed 7EY Yo &1 AT STl

East central railway zone, headquartered at Jabalpur. /

qdt 7eT Yo 81 &I STTaTqT

North railway zone, headquartered at Delhi./

3o Yed 417 &A1y feeel

South railway zone, headquartered at Chennai./

gfaror Yo &1 HEATr T doets

Correct Answer :-

West Central Railway zone, headquartered at Jabalpur./
qieH AT Yo 419 AT STael gl

10)
Question Stimulus :-

The great warrior Tatya Tope was betrayed by?

AT ATGT a1cdT a9 & frasr arar e 417
e Man singh / Wﬁ?’

o Jeet singh / Sfia g
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 Raja Bhoj / IIST 81T
« Karan Singh / FI0T Qg

Correct Answer :-Man singh / HTel Re

Topic:- General Maths
1)

Question Stimulus :-

A can do a piece of work in 10 days while B can do the same work in 20 days. They start together
but A leaves after three days. How many days will B take to complete the remaining work.

A TF FH B 10 e H FT 7Far § B 38 F17 HY 20 e F T 7Far 1 3 ) v q1 FH Y
HTA § AfeheT 3 T TRTTT A F1H BT AT | T §THA FI HA # B A fvetet T 1 774 sram?

14 days/14 f&=T

1 1

82 days/8E fest

11 days/11 &=t

1 1
11 2 days/112

Correct Answer :-11 days/11 &=
2)
Question Stimulus :-

How many different words, can be formed by rearranging the letters of the word ‘SUCCESS’?

‘SUCCESS’ 2eg & 3Rl Y TAcqiedd d g e fieer s qady o dohdl &7
* 5040
. 840
. 420
. 1680
Correct Answer :-420

3)
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Question Stimulus :-

Find the largest five digits number that is divisible by 7, 10, 15, 21 and 25.

7, 10, 15, 21 3 25 & RS @< areT 5 3R Y A T TE&AT ATT FA|

e 98700
e 98950

e 99750

e None of these/ 3UNFd A T HIS G
Correct Answer :-99750
4)
Question Stimulus :-

A runner is running at the speed of 12 kmph along side a railway track. He is 200m ahead of the
engine of a 160m long train, running at the speed of 48 kmph, in the same direction. How long the
train will take to pass the runner?

T 419% 12 kmph FY 71f @ T3 ¢ & FATATAT G135 BT 81 T8 160 meter et o7 S f&F 48 kmph
A 7 T FHA e F a7 W, F ST T 200 meter 3R &1 ST FY €TaH HY IR FIA fhd=A1 THY
Nm?

36 seconds/ 36 YhUs

12 seconds / 12 WHUS

48 seconds / 48 AHUS

None of these / 3UFd H q Fg T

Correct Answer :-36 seconds/ 36 U

5)
Question Stimulus :-

If a person earns a profit of 10% by selling a car and incurs a loss of 20% while selling another
car, find his overall profit or loss if the cost price of both the cars are same.

Ife U FTFd T SR 10 AT o187 9T 3 TF 37 FR 20 Ffaerd gfa . a=ar 1 Ife 1 1Y
$T HT Hed THT & oY SHhT Fel 187 AT g1 ATT X |
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e 10% Loss / 10% gifer
o 15% Profit / 15 % 8T
e 5% Loss /5% ﬂﬁ'

e 10%Profit / 10 % oITsT

Correct Answer :-5% Loss / 5% E'Iﬁ'
6)
Question Stimulus :-
If 43571A98B is a ‘9’ digit number divisible by 72. Which of the following is true for A and B ?
If& 43571A98B T 9 37! FT AT ¢ oIt & 72 F fasnfora 81 fest @ slrwr w91 A ik B & fow
qT 82

e A>B

e A=B

e A<B

e Can’t be determined / eTRT & fFam s FFar

Correct Answer :-A=B
7

Question Stimulus :-

1
If a sum becomes Rs.18300 in 7 2 years at the rate of 7% per annum, find the sum.

If var TR 72 auf & 7% AR sATSr Y &/ Rs. 18300 &Y S &1 &Y TR w1 i)

e Rs. 10000
e Rs. 12000
e Rs. 14000
e Rs. 15000

Correct Answer :-Rs. 12000

8)
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Question Stimulus :-

Priya broke her bangles as she slipped while walking. If she was wearing 12 bangles in her hands
then which of the following cannot be the ratio of broken is to unbroken bangles?

Rra Rereret & Gt o I a0$ e 5wy gt ce a8 | afy 3w araet g o 12 gt aeeh e
RrTaTR 31 & e 81 28 g6 3R R 1 g Rt 7 1Ty vt o W €2
e 1:1
e 1:2
e 1:3
e 1:4
Correct Answer :-1: 4
9)
Question Stimulus :-

Mr. Pujari has some flowers with him. He needs to offer these flowers to the God in S temples. In
each temple, he offered one more than half of what he had while he was entering the temple. How
many flowers did he have in the beginning?

g St & 9T F6 o ¥ 3¢ 3 AR Tl 5 ARRY # 37erane 1 31T w0 A1 v@F Al A 3wl
saraTe Y foest TS @ g AT | 37 TAF AR & MY @ 0 341U ot 3T RIS
T forelt sft AR & St @ & 3779 9 D) 3T I YRS H v gor A2

. 46

. 62

e 25

e 30
Correct Answer :-62
10)
Question Stimulus :-

The ratio of incomes of A and B is 4:3 and their expenditures are in the ratio 3:2. If A saves one third of
his income then find the ratio of their savings?

A 3R B &Y 3T FT T 4:3 § Td IAF AT FT AU 3:2 §1 IR A 3wl Iy #1 v fows
q9d FIAT § A 3ol FAl FT 9T AT F
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o 4:3

e 9:7

e 12:11

o 4:5
Correct Answer :-12:11
11)
Question Stimulus :-

Two dices are thrown randomly. Find the probability of getting the sum of digits as 9.

&Y ITHY Y IATd T A BT AT ¢ XY IIET 9 31T ITel FEATHT T JT 9 glat T
HHATTAT AT HY

1

1
9

1

o 12

e None of these / 3T0Fd H ¥ FIS AL

1
Correct Answer :-9

12)
Question Stimulus :-

The price of an apple is increased from Rs.50 per kg. to Rs.75 per kg.By what percent a person
shall need to decrease his consumption in order to have the same expenditure?

AT &1 31T 50 T Ffafhrdl § TeH 75 . yfafrar gy a1a1| Rl safed Y 319 @9 ) vhaAT
@ ¢ @I Y e 9faerd & F7 e A Taeryhar §?

e 20%

e 25%
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2
e 163 %

1
e 333%

1
Correct Answer :-333%

13)
Question Stimulus :-

The following graph shows the marks of a student in 5 different subjects. If he got 25 marks in Hindi then
how many marks did he score in mathematics?

wmﬂsqﬁmmﬁﬁ%mﬁﬁmwﬁwmﬁw%ﬁﬁzsﬂﬁmgtr%a’r
70T & yrcdTd fhde 82

e 45

e 55
e 35
e 25
Correct Answer :-55

14)
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Question Stimulus :-

This question is followed by two statements A and B. Indicate your responses based on the given
choices?

What is the value of X?

Statement A : X?=36

Statement B : X>0

gaqa:r#qa;rawraa’rwmﬁwmgc%lMqﬁﬁmaﬂmgﬂﬁm#mw
3ifha FI1?

X T AT T &2
FYTA: X2=36

I B:X>0

e If a question can be answered by using statement A alone but not by using statement B
alone./

I 9 T Jecal Fael FYA A F 3TN § AT ST T o] YA B &39I § LM |

o If a question can be answered byusing statement B alone but not by using statement A alone/

I G FT3ccT Fael FYT B F 3TANT F AT 1 T IR FUT A F 397097 § 78|

o If the question can be answered using statement A and statement B together but not by using
either statement A or statement B alone/

I T FT Sea FYT A 3 FU B F T W14 39T & 77 511 Wb e el oft v
FUT A T B & ITAT F T

o If the question cannot be answered even by using statement A and statement B together/

I T2 FT 3ca gl FUAT A 3T B & T I1Y 39T F oY o 2w 51 9 |

Correct Answer :-If the question can be answered using statement A and statement B together but
not by using either statement A or statement B alone/ Tfe T FT 3cdk FUT A IR FYTB F TH

Y 3T { AT 511 7 IR Tt ot v Fyer A A1 B F 39T § A
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15)
Question Stimulus :-

How much water is to be mixed in 20 liters of 20% sugar solution so that the resultant solution contains
8% sugar?

20 feT e & 20% UFHT §1 3UH fhaeT s AT I a1fF ured JaaaT & 8% ATt 8?7
e 10 liter/ 10 affex
o 20 liter/ 20 weX
o 24 liter/ 24 WX

e 30 liter/ 30 sfieX

Correct Answer :-
30 liter/ 30 eflex

Topic:- General Science

1)
Question Stimulus :-

Which among the following waves is used for communication by artificial satellites?

FRA 3T gART FAR F v Prfafd & @ i @ st @ & o @

Micro waves/ HATSH a3

Radio waves/ If23Y a3t

AM/TTH

UV rays/ {r\a"r feRvor

Correct Answer :-Micro waves/ #ATSHY a3l
2)

Question Stimulus :-

Optical fibre is used for which purpose?
YHRIT & T T4 Fel g 87
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e CT scans/ ®Y & Tha

e X-ray photos/ TFd Y favor

e Ultrasound scans/ ¢T38 Tohet
e Communication/ §gR

Correct Answer :-Communication/ §9R
3)
Question Stimulus :-

What is the use of coolis tube ?

FIfrer I HT 3TANT F4AT 872
 Radio waves/ If2aY a3t
e Micro waves/ #TSH! a%an
e X-rays/ TFH Y
e Gamma rays/ I#AT
Correct Answer :-X-rays/ T&Fq I
4)
Question Stimulus :-

What is the unit of Magnetic Flux Density ?

AT FAFH Telcd $T SHIS FAT 872

Newton/ Fq\z?r

Tesla/ TEaT

Pascal/ YT&shel

Newton per metre/ #q&+ 9fad #leX

Correct Answer :-Tesla/ TEdT
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3)
Question Stimulus :-

The instrument used to measure the force and velocity of the wind is?
TH ITHLOT F T T o 3T & ATIT ATqAT §

e Anemometer/ IdeT Q9T ATHY

Voltmeter/ dlecHIeT

Ammeter/ 3THET

Resistor/ IfaIers

Correct Answer :-Anemometer/ IdeT 99T AT

6)
Question Stimulus :-

Which metal can deposit copper from copper sulphate solution?

T T YT AT Tehe fAader @ A9 FY STAT FI Fehell 67

Iron/ gl
Calcium/ FfeaaH

Sulphur/ It

Titanium/ as%ﬁnm

Correct Answer :-Iron/ JTgT

7)
Question Stimulus :-

What is the name of gas which is present in both natural gas and biogas?
wpfas 3 i akte et A Aigg e w1 A F
e Carbon Dioxide/ FTe SEAHTFASS

e Methane/ AT
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e Sulphur Dioxide/ He®T SISHTFATSS

e Nitrogen oxide/ SITSEIS ATFATSS
Correct Answer :-Methane/ #1ds
8)
Question Stimulus :-

Which of the following is likely to cause the average increase in temperature of Earth’s
atmosphere in future?

afesy # qedft & agHAse F avAe # a3y F1 FRoT T4 82

Atomic warfare/ ‘R'J:ITUI g?;

e Increasing Ozone layer hole/ 3ol f&g # REaR

Dust clouds from volcanoes/ W a ilc\?l' & dIcar

All of the above / 3TREFd & T

Correct Answer :-All of the above / 3U0Fd H Y
9)
Question Stimulus :-

What is used to dilute oxygen in the gas cylinders used by divers?

MATERT G@RT ST AT Reistd # T A ave w3 F v w72 v&@her R s §2
Hydrogen/ gT33Tsiel

Methane/ #ldsr

Helium/ §ifer s

Carbon dioxide/ FTaT STEAHTFATSS

Correct Answer :-Helium/ §iferas

10)

Question Stimulus :-
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Formula of Bleaching Powder is :
faer® gt &1 ¥ &
¢ CaOCl,
¢ CaCO4
e CaKOH
e Ca,Al(OH),
Correct Answer :-Ca0Cl,
11)
Question Stimulus :-

A large blood vessel that carries blood away from the heart to other parts of the body is:

TH I8 IFd aIfgdl o ged & R & 3T WY ' & qgan? &
A vein / ATSY

An artery/ THa

A capillary/ &frer

Nerve/ siH
Correct Answer :-An artery/ &&el}

12)
Question Stimulus :-

Which is the largest white blood cell in human body?

AT R & G T37 24T & PN FlT ATR?
o Erythrocytes/‘!'ﬂ'%ﬂw
e Monocytes/ AlFIATSE
. Lymphocyte/m
. Femur/EﬁEl'Eﬁ'GE?f
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Correct Answer :-Monocytes/ A1ATHTSE

13)
Question Stimulus :-

Deficiency of Iron can cause?

IRRA H FANT A T &

(A) Anemia only/ T&FATEIT TATAIT

(B) Weak Immunity only/ &R 9favafor

Neither A nor B/ A 31X B @Y TgY

Both A and B/ A 31X B &=t

Correct Answer :-Both A and B/ A 3R B gt

14)
Question Stimulus :-

Night blindness is caused due to the deficiency of:

Tl fre & T A AT 2

Vitamin A1/ Q@ A1

Vitamin A2/ faeifaa A2

Vitamin A3/ faeifAa A3

Vitamin A/ fdeif@= A
Correct Answer :-Vitamin A/ fQefA=T A

15)
Question Stimulus :-

The Fungal Disease “Red Rot” affects which plant?
TE AT N Ve FeT F A A g B2
e Groundnut/ J[JTCIWh'
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e Sugarcane/ ool
e Coffee/ HIhY
e Potato/ 3Te[

Correct Answer :-Sugarcane/ 3leell

Topic:- General Hindi
D

Question Stimulus :-

“YYT TAT TS TAT’ APFT FT 37T T

3eeng &Y ufa

¥ HsFR

R FHA FT T el
o FFHVI-IHAF I1d FA Tl
Correct Answer :-3IHHUI-3HF qMT = arelT
2)
Question Stimulus :-

. g

Correct Answer R
3)
Question Stimulus :-

Ag IFT B-

http://localhost:61852/
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« 3% TH IF 3
o 39& UF Y7 ol
o 3AF TF 97 ¢l
o 3aH TF 9 B
Correct Answer :-34&T T& Y7 gl
1)
Question Stimulus :-
“ofifr F faqor worw 2
o FIOT dAcTHY
o YK ATET
o FH A
o HfEEROT TqE
Correct Answer :-3f&&Ror dqeqey
5)
Question Stimulus :-
A ¥ O ¥ wHp A FEd 81
- T
o FaR
. s
. o
Correct Answer :-37#31S
6)
Question Stimulus :-
‘afea &1 faeer B
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Correct Answer :-fagfea
7)
Question Stimulus :-
v @ ¥ a7 g

¢ TN

o i

e UIT

o B
Correct Answer :-9ra

8)
Question Stimulus :-

Toielt 3YS F

o AfFaAmT
Correct Answer :-gfRam=
9)
Question Stimulus :-
AT TH & TUTE 1T R
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o I
o AMF
o fade
o I
Correct Answer :-fadg

10)

Question Stimulus :-
famr # & et aeg gfaT-
* TN
s WS
° I
o A
Correct Answer -39

11)
Question Stimulus :-

Figiras F1 AL B

R

o URER®
o FuFaw
o IEl
Correct Answer :-9TRATR®

12)

Question Stimulus :-

“fRdt a1T W 32 WA’ F AT v eaUsg gl

http://localhost:61852/
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o TAH ¥ FS AN
Correct Answer :-31f3ar

13)

Question Stimulus :-
axer A WRET BFE TER & oeg 8l
o FHAIN®
o FAAA®

IEHA AfRF

ICL il NECD

Correct Answer :-3¢dH HAN®

14)

Question Stimulus :-
“IUHT HE TegHT F WA ool o 3§ a7 H FUROT 43
° 31'@'

o IegAT

& HHATT

L] Hraqal

Correct Answer :-TegHT
15)

Question Stimulus :-
A s Y FEa g
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« 27
e 29
e 31
e 33
Correct Answer :-33

Topic:- General English
D

Question Stimulus :-
DIRECTIONS: Choose the option that can be substituted for the given sentence.
A person who believes that nothing is known or can be known of the existence of god.
e Atheist.
e Theist.
e Agnostic.
e Disbeliever.
Correct Answer :-Agnostic.
2)
Question Stimulus :-
DIRECTION: Choose the option that can be substituted for the given sentence.
A large cage, building or enclosure for keeping birds.
e Apiary.
e Aviary.
e Nest.
e Hive.
Correct Answer :-Aviary.
3)
Question Stimulus :-

What will be the synonym of the word ‘Native’?
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e Dweller.

e Aboriginal.

e C(itizen.

e National.

Correct Answer :-Aboriginal.

4)

Question Stimulus :-

What will be the antonym of the ‘Juvenile’?

e Young.

e Adult.

e Inexperienced.

e Prisoner.

Correct Answer :-Adult.

3)

Question Stimulus :-

Choose the correct sentence out of the given sentences.

e The cows are economically useful.

e Cow is economically useful.

e The son should be obedient.

e The dogs are a faithful animal.
Correct Answer :-Cow is economically useful.
6)

Question Stimulus :-

DIRECTION: In the following questions, four alternatives are given for the Idiom/Phrase printed in
italics. Choose the alternative which best expresses the meaning of the Idiom/Phrase.

Harshita will be on cloud nine when her project gets completed successfully.

e ecstatic
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e dejected

e at a very high place

e at the ninth place in company
Correct Answer :-ecstatic
7
Question Stimulus :-

DIRECTION: In the following questions, four alternatives are given for the Idiom/Phrase printed in
italics. Choose the alternative which best expresses the meaning of the Idiom/Phrase.

Sandra always cries over spilled milk, she cannot understand and accept reality.
e to cry loudly and seek attention
e to be unhappy about what cannot be reversed
e to waste things and repent
e to always keep complaining
Correct Answer :-to be unhappy about what cannot be reversed
8)
Question Stimulus :-

DIRECTION: In the following questions groups of four words are given. In each group, one word is
correctly spelt. Find the correctly spelt word.

Find the correctly spelt word.
e Privilege.
e Privillage.
e Privlege.
e Privileg.
Correct Answer :-Privilege.
9)
Question Stimulus :-

DIRECTION: In the following question groups of four words are given. In each group, one word is
correctly spelt. Find the correctly spelt word.
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e Occason.
e Occassion.
e Occasion.
e Ocason.
Correct Answer :-Occasion.
10)
Question Stimulus :-
DIRECTION: Fill in the blank with correct preposition.
When he alighted ____ the car, he was welcomed with open arms.
* on
e at
e from
e by
Correct Answer :-from
11)
Question Stimulus :-
DIRECTION: Fill in the blank with correct preposition.
It has been almost 15 year I saw him.
e when
e for
e since.

while

Correct Answer :-since.
12)
Question Stimulus :-

DIRECTION: Out of the given options which will be the correct passive form of the sentence.
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Jane Austen wrote the novel, ‘Pride and Prejudice’.
e The novel ‘Pride and Prejudice’ is written by Jane Austin.
e The novel ‘Pride and Prejudice’ was written by Jane Austin.
e The novel ‘Pride and Prejudice’ has been written by Jane Austin.
e The novel ‘Pride and Prejudice’ is being written by Jane Austin.
Correct Answer :-The novel ‘Pride and Prejudice’ was written by Jane Austin.
13)
Question Stimulus :-
DIRECTION: Choose the correct article.
Mr. Smithis ___ honourable person.
* a
e an
e the
e No article required.
Correct Answer :-an
14)
Question Stimulus :-
DIRECTION: Choose the option that has the correct form of indirect speech.
Mike said, I am unwell.
e Mike said that he is unwell.
e Mike said that he had been unwell.
e Mike said that he was unwell
e Mike said that he is being unwell.
Correct Answer :-Mike said that he was unwell
15)
Question Stimulus :-

DIRECTION: Arrange the following options to get a meaningful paragraph.
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(A) For a man who does not over eat.
(B) To enjoy good health.
(C) Enjoys sound sleep and rises early completely refreshed.
(D) We should eat moderately.
e DBAC.
e DACB.
e BDAC.
e BDCA.
Correct Answer :-BDAC.

Topic:- General Computer Knowledge

1)

Question Stimulus :-

Which of the following are the storage devices?
(I) Hard disk.

(IT) Floppy Disk

(IIT1) CD - ROM

e & @ Pl @1 TS Raww §
I &1 v

(I1) FeTdt B3FF

(11D #oy ot A7

Iand IL/1 31T 11

IT and IIL/11 30T 100

I and IIL/ | 3T I

I, 11 and IIL/1, 11 38X I

Correct Answer :-I, II and ITL/1, 11 3T 1

2)

http://localhost:61852/ 29/85



11/24/2015 localhost:61852

Question Stimulus :-

Which shortcut key is used to delete an entire word, in MS-Word?

w. T af F fe F @ F @ o, et o A Rde =@ ¥ R swie & o 2
e Ctrl + Delete
o Alt + delete
e Shift Backspace
e CtrH+D
Correct Answer :-Ctrl + Delete
3)
Question Stimulus :-

What is the use of name box in MS- Excel?
TH.UH. TFH A AH ST FHT FI1 3997 3|

e Displays the Sum./ 3T %Sum'; f3¥cels & faw

e Used to type formulas./ m@‘r TRT A & fow

e Displays the address of the cell./ @ FT u?g-’r e & favw

e Used to insert rows and columns./ ¥ 3 FTere gfase a3t & faw
Correct Answer :-Displays the address of the cell./ & %T T3¥ f3Fcal & faw

4)

Question Stimulus :-

In MS Excel is written before writing any formula.
TH UH A A g7 fwa @ gger forar SATCT B
e =
o >
o <
e %
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Correct Answer :-=
3)
Question Stimulus :-

Which protocol is the protocol of the internet?

AT A @ FiaT A DT AT NAFIA 82

e SFTP
e HTTP
e TCP/IP
e HTTPs

Correct Answer :-TCP/IP

6)

Question Stimulus :-

Blue tooth is an example of which type of network?
ool-CY fFH TR FT Aica® 3GTeL0T 87
e Personal Area network. / G8sTel ¥RAT Acash
e Local Area network./ @l TRAT Acah
* Virtual private network./ aUEAe Yivirtual’, 913ﬁ'€ Acds
e Wide area Network./ 188 Viwide': TRAT Aca®
Correct Answer :-Personal Area network. / 98eTel ¥RT Aead

7)
Question Stimulus :-

What is the full form of OSI?

3. TH. 3TS. T I ATH FAT 52
e Open system inter connection./ g RAEeA 33'{' Felarelel
e Operating system interface./ R RATew seha
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e Optical service implementation./ 3 fCewhder TfAT sFcaliAA=eyeT

e Optical Status Identification./ 3fCewher Teeq MsSTecihhar
Correct Answer :-Open system inter connection./ 31T fA¥EH ST FAFUAT
8)
Question Stimulus :-

Which of the following are the three components of CPU (Central Processing Unit) of a Computer?

T A @ wla & Foger Fa. @ g, (Fr vaeor gfae) & die s g?

CU, ALU and Output./ # g, T. T4, g, US H13¢YC

Output, MU and CU./ 3T3¢YE TH. g, U5 A 7,

Input, MU and ALU./ $I9E, TH. ¥, TS T. TA. 7,

ALU, MU and CU./ T. Te. J,UH. g, TS 1. 7,

Correct Answer :-ALU, MU and CU./ T. Te. Z.UA. J, TS HI. 7,
9)
Question Stimulus :-

Which of the following is not an input device?
foes & @ e 71 ge1qe Bagw At 2
e Mouse/ AT3H

o Speaker/ T&HT

e Microphone / ATSHIBIA
e Joystick/ SNAf¥ecH
Correct Answer :-Speaker/ Td1&H

10)
Question Stimulus :-
Which of the following electronic devices was used in First generation Computers?
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fr A @ e WY saTafas Bage vua fd & Frger 7 v iy ag o
e Microprocessor./ HTSHIGIASIT

Vacuum Tube./ ﬂ?ﬂ;ﬂ' <aq

Transistor./ TTATET

Integrated Circuit./ 1S AfFe
Correct Answer :-Vacuum Tube./ 3FgH TJ&

11)
Question Stimulus :-

Every NIC (Network Interface Card) has its own address that identifies the PC on the
network.

& TS (Aead SeThH F18 ) Acad W W WErar ¥ ot T Y ygarrd @

MAD/THTU 2

PAC /ot

MAC/TH THY

SAT/THT &

Correct Answer :-MAC/TH T HY

12)
Question Stimulus :-

Which language is directly understood by the computer without translating it?
VI 3r7aTe T faT Fooeex SRt AT & g arelt olvdsr ) Fga 87

Machine language./ #AefieT dodsr

e Hardware language./?‘lﬁﬁ'ﬂ'{'ﬁﬁ'

Inter language./ €T o3dsT

Soft language./ ATFC A
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Correct Answer :-Machine language./ FefieT slvdsr

13)
Question Stimulus :-

Which of the following can be the extension of MS Word document?

ffaf@a & ¥ Fla @1 . . 7 srEgHee 1 TERena §?

e .doc
® .€xe
o .txt
e .dll

Correct Answer :-.doc

14)
Question Stimulus :-

What is the computer instruction written with the use of English words instead of binary machine
code called?

a8 Froge} Ader At i argerdt aler iz & ager 33l ereal # foraT smar &7 FEarar g?
e Opcode./ k1
e Symbolic code./ RAFaIfaF F15
e Mnemonic./ H':Fﬂﬁﬂ?
e Gray code./ ¥-15
Correct Answer :-Symbolic code./ R¥Farfa® Fis

15)
Question Stimulus :-

MS Excel is an example of

TH TH FAd T IETeI0T §

e A word Processor / T 95 JI8ET
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e Spread Sheet software/ T3S efie ATFeaaT
« Both (a) and (b)/ (a) 3T (b)
e Neither (a) nor (b)/ @ i =t Fl?f
Correct Answer :-Spread Sheet software/ T43 efic FFedAT

Topic:- Reasoning

1)
Question Stimulus :-

Pointing to a boy. Anjali said ‘He is the son of my grandfather’s only child’. How is Anjali related
to that boy?

waﬁﬁmg&mmﬁg@m#w“azﬁ%ma%a;smﬁzﬁmmga%l"31'31?»&
e & 37 o= i ¥4 87

e Cousin/ &faT

o Sister/ dgol
e Mother/ AT

e Aunt/ ITEY

Correct Answer :-Sister/ dgol
2)
Question Stimulus :-

In the question below, there are two statements followed by conclusions numbered I, II, III and IV.
You have to take the given statements to be true even if they seem to be at variance with commonly
known facts and then decide which of the given conclusions logically follow(s) from the given
statements.

Statements:

(A) All girls are cute.

(B) All cute are westernized.
Conclusions:

I. Some cute are girls.
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II. No cute is a girl.
III. Some westernized are girls.

IV. All westernized are girls.

AR RI A NAFTAIRBFITE R ITF L I, LI 3R IV Awy 3 a3 &) smuer &3
AT FYAT B T AAAT 8, ol & T FaATd a1 & et gl wsit fAswy gfed fvr aa ffFw i
Pt A1 aF AT I FU=AT FT T FAT &

FYUA:
(A) FT FsfRat sTHdw B
(B) G T qreETeT B
fasan:

L FO i, asfhal 8l
1. Y 3THYH, A AL B
1L T 9RA, A5fHar &

1v. it ey asfRar gl

Only I follows/ ¥ael I 3Te[€ROT FaT gl

Either I or II follows / JTa¥ 14111 317:I:HTUT HIdl %I

Either III or IV follows / AT @Y 11 AT IV 3e[H0T &I g

Only I & III follow / &aer I 31X ITI THOT T o1

Correct Answer :-Only I & III follow / &ael I R A HIOT AT 4

3)
Question Stimulus :-

In the question below, there are two statements followed by conclusions numbered L, I1, III and IV.
You have to take the given statements to be true even if they seem to be at variance with commonly
known facts and then decide which of the given conclusions logically follow(s) from the given
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statements.
(A) Some girls are cunning.
(B) No cunning is wicked.
Conclusions:
I. Some cunning are girls.
II. Some wickeds are girls.
ITI. Some girls are not wicked.

IV. All wickeds are girls.

AT RATANRAFA A IR BFUTE IR ITF I L 1L 111 3R 1V Asws o a3 &1 s o
AT FYAT HT T ATTAT &, AN 1 3§ FIATT d2AT ¥ e gf| w3t sy afeA e ag AT HY
PleT AT AT I FHYUAT T 3TEROT T &

FYUT:
(A) & Tsfrar arems ¢ |
(B) I TSH! ATClTh T ¢ |
sy
L & gres, asfHar g
II. F&gee, asfai §
NI Fo asfar, gee ad &
Iv. @it gee, asfar §

Only I follows/ ¥ael I 3T[HROT FaT gl

Either II or II follows / T AT 11 ITI1I A HIOT T gl

Only I and 111 follows / &ae I 3T 111 AT HTT &

Only 1 & II follow / &ael I 31X 111 31=THOT FIAT §

http://localhost:61852/ 37/85



11/24/2015 localhost:61852

Correct Answer :-Only I follows/ $dd 1 3THIOT FIT ¢
4)
Question Stimulus :-

While playing a game of cards, a player holds 13 cards of all four suits, of which seven are black
and six are red. There are twice as many diamonds as spades and twice as many hearts as
diamonds. How many clubs does he hold?

d1er & Ucdl T @ Weld AT U @S F I IR TR F 13 Ted § [T F 7 H1ak 3 6 A1er §1
3o foraa ued g5 & € 30% @ ued §e & §, 3R e ved e & § s e v wa 5§
38 I fohaet Tead RS F &

. 4

e 5

.6

.« 7
Correct Answer :-6
5)
Question Stimulus :-

While having dinner eight friends Pankaj, Qatar, Radha, Satish, Tarun, Utkarsh, Varun and
Womik are sitting around a circular table facing the center. Tarun is sitting opposite Utkarsh.
Radha is between Qatar and Womik while Pankaj is between Satish and Varun. In how many ways
can the friends sit?

R WS & FAT IS A Yo, FaR, YT, Fedler, TIOT, Ichy, To07 IR AfAF wF gediT ds
F IRT AN Fog B WS @ FF 45 ¢ a0, 3ch¥ F RAadiq do71 F T, Far 3R AdF &
#AeT # § i gFer, wellr 3R qe0r & we A ¥ A avg @ wit @ a5 wwa

e 4

e 8

2

e 16
Correct Answer :-8
6)

Question Stimulus :-
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In the question below, there are two statements followed by conclusions numbered I, II, IIT and IV.
You have to take the given statements to be true even if they seem to be at variance with commonly
known facts and then decide which of the given conclusions logically follow(s) from the given
statements.

Statements:

(A) Some trees are sharks.

(B) Some sharks are balloons.

Conclusions:

I. All balloons are sharks.

II. All balloons are trees.

III. Some trees are balloons.

IV. No tree is a balloon.

A RA AT FAA B FITE 3T TEL 11, 11 3R 1V fashy RF a3 &1 3muepr &
AT FUAT F T AT &, HA ' T FIATT a241 A e 81| Toft sy gy vy aa AfFw Hir
et AT TF T I F=AT T IHTATT FAT

Yel:
(A) TEISUEE |

(B) $O AH [eaR E |

fasay:
L wf AR s g |
. wftearasd |

. F& 93 ER ¢
IV. %I 93 IarT 781 31

* Only I follows/ Fde I 3T[HIVT T Bl
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e Only II & III follow / &der I 3T 111 3[EOT XA &
e Only either III or IV follows / T aY &ael 111 ATIV HTHIOT h T gl
e None of I, IL, IIT and IV follows/ I, IL, I 31X IV & & ;S ft 3re[avor gt tam 8

Correct Answer :-Only either ITI or IV follows / IT &t &ael I11 AT IV HJHIT T gl

7)
Question Stimulus :-

In a certain code language HELICOPTER is coded as EKNGJPCRNM. How will AMERICAN be
coded?

e % smar # HELICOPTER #! EKNGJPCRNM fa@r Sirar g1 3@ %€ smar # AMERICAN &t
e ger forar s

e TGOCGAYL
e GAYLCOGT
e TGOCLYAG

e COGTLYAG
Correct Answer :-TGOCLYAG
8)
Question Stimulus :-

If A=1,B =3, C =5 and so on. In the same language, value of ON is 56. Which of the following is
the numeral value of the word URGENT?

Iy A=1, B=3, C=5 3l dig & 3| 37 #T9T & ON T 3’fFe AW 56 &1 AFT & ¥ URGENT
T fHe AT FAT M

e 124
e 164
e 150
o 220

Correct Answer :-164

9)
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Question Stimulus :-
Study the following arrangement carefully and answer the questions given below:
W3#RSFGKL2@5S%TU4*6&PA70©

Which of the following is the fourth to the right of eighteenth from the right end of the above
arrangement?

el caaeyr #1 ArauE (@@ sreaas w3 3R e R a3 g F1 3eaw &
W3#RSFGKL2@5S%TU4*6&PA70©
fore=T 7 Yo7 W1 IUGFT STIEAT A 1S AR A HOREd F T8 A q1UT8?
e G
- @
« 5
°« 2
Correct Answer :-@
10)
Question Stimulus :-
Study the following arrangement carefully and answer the questions given below:
W3#RSFGKL2@5S% TU4*6&PATO

How many numbers and symbols in total are present in the arrangement?

i@ caawar 1 araurE (@ sreager w3 3T AR e e gest #1 3eaw 3|
W3#RSFGKL2@5S% TU4*6&PATO©
qaedT # Tl fretet 37 3 W 82

.« 6

. 14

e 13
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o« 7
Correct Answer :-13
11)
Question Stimulus :-
Study the following arrangement carefully and answer the questions given below:
W3#RSFGKL2@5S%TU4*6&PA70©

How many such numbers are there in the above arrangement each of which is immediately
preceded by a letter and immediately followed by a symbol?

i@ caawar 1 araue (@ sregaer w1 31T AR e a1 gest #1 3eaw 3|
W3#RSFGKL2@5S% TU4*6&PATO
3udad saaedT # O fraet 31 B, foreradh Qe vger anew 3K i e e B
.3
. 4
.1
None of these/ 3R ¥ S G

Correct Answer :-4

12)

Question Stimulus :-

Study the following arrangement carefully and answer the questions given below:
W3#RSFGKL2@S5S%TU4*6&PA70©

How many such letters are there which are immediately followed by a number?

frafaf@a saavar 1 waur gde sregaer w3 3R AT G 713 wea w1300 2|

W3#RSFGKL2@5S% TU4*6&PATO
¥ foreret 31aT & Foterah e a1g o 31 B
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o 2

3
e 4
e 1
Correct Answer :-4
13)
Question Stimulus :-
What will come next in the following letter series?

JKLMNOPQJKLMNOJK

farafaf@a ararw Aoft & 3raraT 318w F47 EV9I?
JKLMNOPQJKLMNOJK

. K

e L

e M

e None of these/ T8 & IS AgT

Correct Answer :-L
14)
Question Stimulus :-

In the given question, two words are given such that they have a relation to each other followed by
four lettered pair of words. Select the lettered pair that has the same relationship as the original
pair of words.

Drake : Duck

fodr gu weat A Y eree 3w e ¥ R gv § & 379 39w # Fo wayw ¥ 79 q1¢ Usal
F IR oA o 73 ) ur aeg Lo giav e adt W g St Jw asq A H B

d{ ddd : AT d9d9
e King : Queen / IS : AT

e Horse : Filly / €37 : 831
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e Fly : Bird /33«1 : fRf3ar
* Bitch : Dog / FfaaT : Fear
Correct Answer :-King : Queen / I<IT : Tl
15)
Question Stimulus :-

In the given series one number is missing. Understand the pattern of the series and insert the
number.

4,7,9,12,14,17, 2,22

&1 & Aol 3 v wrea 5 g6 ¥1 AR 35 s Y W g WA W 3T
4,7,9,12,14,17, 2,22

e 21

e 19

e 18

« 20
Correct Answer :-19

Topic:- Chemistry CBZ
1))

Question Stimulus :-

The symmetry point group of SF, is

SF, &1 gAfAfy g wog ¢l

* Ciy

Correct Answer :-C,y
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2)
Question Stimulus :-

Bear lambert law is?

iR AFae g -

Ia
A =log (?:] = She

A=-logl

A=logl)+1I

None of these/ 518 ¥ HIS sTa!

Iy
Correct Answer :-A = log (" ) = Spe

3)
Question Stimulus :-

BET theory explains-

BET &7 fAgie a/d1elT 8-

Mono layer adsorption / T Fa{r 3rferanyor

Bilayer adsorption/ Efa€a{I¥ 3rferenyor

Multi layer adsorption / 9§ T rferenyor
None of these/ SAH & HIS T8l

Correct Answer :-Multi layer adsorption / Elg' T rferanyor

4)
Question Stimulus :-

In a potentiometric titration the end point is obtained by what observation -
e U a7 Here srepaAras 7 3 faeg w1 fafa glar g aw -

e Change in color/ T IREdT
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 Jump in potential/ fasra $r AT §
e Increase in current./ &fRT &T AT d¢ &
e Increase in turbidity/ 3Tfaeraar $ acﬁ‘,\' a

Correct Answer :-Jump in potential/ f3ra &r AT ¥

3)
Question Stimulus :-

Lanthanum is grouped with f~-block elements because
ATATH F f - SATF cAedl & WG H TWT IAT 7, FH
o It has partially filled f-orbitals / ST 3TfIF T F 1Y - FH&TH &
o Itis just before Ce in the periodic table / g 3Taer ATROM HCeAUgA ATATR
« It has both partially filled f and d-orbitals / SHH { dUT d FH&TH ¥l HTRAF FTT TN

o The properties of Lanthanum are very similar to the elements of 4f block / d=dsTH & 0T 4f
ST & dcal & AT §

Correct Answer :-The properties of Lanthanum are very similar to the elements of 4f block /

AFATH F I[OT 4f ST F el H GHATT &

6)
Question Stimulus :-

Chemisorption is?
T 3rfrayor?

e It Involves the weak attractive interactions between adsorbent and adsorbate./ srfrenys dAT

ITXNST & FET FHN HTHFET do8il T Tl ¢
e Is irreversible in nature./ <Y 'Ffﬁ' W’q’ %’I

e Decreases with increase of temperature./ dT9HTT Wﬁ‘ U A gidr %I

« Involves multilayer formation of adsorbent on adsorbate./ 37ferensa g 3rf&ranys &ir il'g'CITEIT
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HTIAAT 2|

Correct Answer :-Is irreversible in nature./ &V ‘Iﬁjﬁf Hﬂﬁ?ﬂvﬁ'ﬂ' %‘I

7)
Question Stimulus :-

Mark the correct statement in a reversible reaction-

3ch A FTRTHRAT & AT T Fu F ”RifFea fifST-

The catalyst catalyses the forward reaction/ 3c9%& 313 FTATFAT F IANT FIaT g

The catalyst catalyses the backward reaction/ 3c9%& Yda JfRfRaT 1 34IRT Far g

The catalyst influences the direct and the reverse reaction to the same extent/ 3CUF 3T TF g
AR # FAw ¥ ¥ 3RT F@r

The catalyst increases the rate of forward reaction and decreases the rate of backward reaction/

3NE I HATFAT F qor F Iy Far ¥ 3Ryl FfA(fFAr F v F#r werar

Correct Answer :-The catalyst influences the direct and the reverse reaction to the same extent/ 3¢

3T UG g FFAFFAT FT AT T ¥ IOART T §

8)
Question Stimulus :-

The formation of starch in plants results from.
uTet # T T qe1ell gfoma &
e Photosynthesis/Sh1Ru HRAYOT
e Photolysis/9&Ter fAerest
e Flash photolysis/Fol?T Tl eess
e None of the above/SFl'ﬁ' a aﬂé’ Tl
Correct Answer :-Photosynthesis/J&T2l T2AYOT

9)
Question Stimulus :-
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Which amongst the following is the most stable carbocation?

AFT 7 O i e 3O Tar FEfuaaT -

CH; -C

CH,
[ ]
CH,
CH; - C*
[
. ¥
CH,
[ ]
CH ; CH;
CH
CH, - C"
CH,

Correct Answer :-
10)
Question Stimulus :-

Which is the decreasing order of stability?
FTRICT T Tl §3T HA Hlerdn 8?2

. CH, —CH - CH,
(i)

CH; -CH-0-CH,

(i)
Gy s - CH-CO-CH,

e (i) < (i) < (i)

o ()> (ii) > (iii)

. (i) > (i) > (1)

. (i) > (i) > (iii)
Correct Answer :-(ii) > (i) > (iii)
11)
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Question Stimulus :-

The order of decreasing stability of the carbanions-
H Tl & TYTRACT HT T HA ¢-

(CH ), CH (CH ), CH

) @) &)
1>2>3>4

CH,CH, CHCH, s

4)

4>3>2>1

4>1>2>3

1>2>4>3

Correct Answer :-4>3>2>1

12)
Question Stimulus :-

Dissymmetric object is one which is?
BRARF argage N ?
o Superimposable on its mirror image./ 379s¥ gUoT Yfafas« ux rearRIAT gl gl
« Non-superimposable on its mirror image./ 379 g4or yfafas« ¥ srearida el g §1

Optically inactive/Ser1{re 3rframefter
Achiral/ Tfeeyer

Correct Answer :-Non-superimposable on its mirror image./ 379s g9or gfafes s I 3rearIa gt
gt gl

13)
Question Stimulus :-

Geometrical isomers differ in.
ST ATTTA AT ST &

o Position of atoms/ ITHTI] N IfaH
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e Length of carbon/ e« H@elT $T aTS A
e Spatial arrangement of atoms/ Wpﬁ $Y =aReT sTaEdT A
« Position of functional group/ féaTer® wog #r Fufa &

Correct Answer :- Spatial arrangement of atoms/ '«'-IWUIHT &Y AFaNeT STTEATH

14)
Question Stimulus :-

Which of the following hydride is capable of showing conformations?
faF 1 & & fFy g13313s H TWOr geIfet 1 ATy B2

e NH, - NH,

e ByHg

e CHy

o None of these. / 38 & #I$ S &I
Correct Answer :-NH, — NH,

15)
Question Stimulus :-

Which one among the following is a thermosetting plastic?
farafaf@a & & i ynfafer confees 82
e PVC

e PVA

Bakelite/d&dTSe
Perspex/qREAFH

Correct Answer :-Bakelite/ﬂﬁo‘oﬂ%?

16)

Question Stimulus :-
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The basis on the mode of their formation, the polymers can be classified.

SoTTeY Y T & TR O Sgelehl T JIHIT $H THN §

As addition polymers only/Hdael IRTTcHS TgTH

As condensation polymers only/&der 'H'ﬂﬂﬂ'ﬂg?ﬁ?

As copolymers/‘ﬂ?ﬁgﬂﬂ?

Both as addition and condensation polymers/ JTcHS® EIE?‘H? aYT e EI§T~H? G|

Correct Answer :-Both as addition and condensation polymers/ IRMcAS agaa? AT FEAT EE?H-T
AC)

17)

Question Stimulus :-

Thermoplastics are-

gAfenee® &-

(A) Linear polymers/ @I agP

(B) Highly cross-linked/37ca @& #1d ﬁﬁl‘g:

Both (a) and (b)/ (a) YT (b) ST

Crystalline/ fpEeeiia

Correct Answer :-(A) Linear polymers/ @I Eg_aﬁ?

18)
Question Stimulus :-

Which one of the following pairs is not correctly related?

fifra oAt 7 @ Flaar a8 w9 § grafeua i 82

- C=0 Clemenson’ sreduction -, CH:

oK i , ToF e ey
. > =0 Wol - Kishnerreduction . > CHOH / :_{,_- = G I = s CHGH
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=t CDC._F Fosemmund s reduction ':r:_-:r::?-\g ATTOA

. »CHO | _ coci CHO
i Stephen reduction =T ST
« ~C=N »CHO |-c= N—= —CHO
Wl - Kishnerreduction . 5 S ? fiFFT araeH -.
Correct Answer :-~ ¢ = ¢ »>CHOH | >C=0 » > CHOH

19)
Question Stimulus :-

Which of the following gives aldol condensation reaction?

A T # q ST U Tuaa AT aarg?
L C6H50H

(#)

o

e None of the these /S?-Fff a Tﬂé’ C ]

o
Correct Answer :-C73¢H 2~ C-CH;
20)

Question Stimulus :-

Benzyl alcohol and sodium benzoate is obtained by the action of sodium hydroxide on
benzaldehyde. This reaction is known as-

drarfeserss W AI3TH gEgraass I fFdT garT dfare vedige 30T AIf3T# dve e glar &
0 FRTFI R Fea &

e Perkin’s reaction/9fhet rfRTHAT
e Cannizzaro’s reaction/FaloTRY 3TATHAT
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 Sandmeyer’s reaction/qUsHIT IFfATHAT
e Claisen condensation/Fasiel e

Correct Answer :-Cannizzaro’s reaction/ﬁ-ﬁ-ﬁm sfRfrar

21)
Question Stimulus :-

Isoelectric point is a?

IrsasafFeE faeg 8-
e Specific temperature/fafse A=

e Suitable concentration of amino acid/THIAT 3TFeT &T m Hloeq Ul

e Hydrogen ion concentration that does not allow migration of amino acid under electric field/

fegdr &7 & wilila) el &1 AT AFA qTAT FIIAT AT FT Hegor

* Melting point of an amino acid under the influence of electric field/fggdTr &7 & werra 7
THIAT HFT FT IAATH

Correct Answer :-Hydrogen ion concentration that does not allow migration of amino acid under

electric field/fggdTr & & vdllal 3oal FT THT VFet AT FTSISTT YA FT HGOT

22)
Question Stimulus :-

Proteins when heated with conc. HNO3 give a yellow colour. This is-

Aleg HNO; F TTY I3 Ftat I N frar Wy et g1 I 8-

Oxidising test/3TFHIHIOT GH&TOT

Xanthoprotic test/St=afesw gdaor

Hoppe's test/{q gqdiaTor

Acid-base test/&TR q{iaTor

Correct Answer :-Xanthoprotic test/st=aTofes gdator
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23)
Question Stimulus :-

Which of the given statement (s) is/are false.

o 7 ¥ Flaaralad Fua 3T §:

I. Orbital angular momentum of the electron having n =5 and haxing value of the azimuthal

quantum number as lowest for this principle quantum number is *.

n = 5 TYT $H FET FAUCH T&AT & fAw farelt Framoes wear 1 #yeraw AT 1@ arel saTere H
h

Fafir Fofg Fa7~ Far gl

II. Ifn=3,1=0, m=0, for the last valence shell electron, then the possible atomic number must
be 12 or 13.

A sifas WA Fher gaaea & AT n =3,1=0, m = 0, § &t Hanfder RA] FoAT 12 a1 13 g
aIfe |

B3| =
.

II1. Total spin of electrons for the atom ,5Mn is +

7
9] & fAT gaeerel #1 o gt + 2 3

IV. Spin magnetic moment of inert gas is 0.

3w 3 &1 T gEadh 3Tt o B

I, I and III/L, I1 @97 111

II and III only/ &dael 1T 2T 111

I and IV only/ &ael I qATIV

None of thesels?lﬁ' o EF]? Tl

Correct Answer :-1, II and III/I, I1 94T 111

24)
Question Stimulus :-

Which of the following has been arranged in increasing order of size of the hybrid orbitals?
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ﬁmﬁ#ﬁmﬁ;ﬁsﬁamﬂ?#mgﬁm%w#mﬁmﬁmw%?

sp> <sp? <sp

sp < sp? < sp?

sp” <sp’ <sp

e sp? <sp<sp’
Correct Answer :-sp < sp> < sp>
25)
Question Stimulus :-

In which of the following molecules number of lone pairs and bond pairs on central atom are
not equal?

foreer F @ o 3r0] 7 e AT W vwrht IoAt qur gt FeRt A e awaT agi e 2
b HzO

° 13_

0,F,

SCl,
Correct Answer :-13~

26)
Question Stimulus :-

A gaseous system changes from state A (P, V{, T{) to B (P, V;, T,), B to C (P3, V3, T3) and
finally from C to A. The whole process may be called-

& T AR A (P, Vi, T)) § B (P,, Vy, Ty) JTEATH, BA C (P3, V3, T3) FTEATH IUT 3w a:
#ACH A ravyr # yRafda grar 1 woqot g Fearar g-

e Reversible process/3chH 0N Y

e Cyclic process/ o YhH
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o Isobaric process/ HHGIEIT Tha
e Spontaneous process/ Tdd: YshH

Correct Answer :-Cyclic process/ I Yshd

27)
Question Stimulus :-

During winters, moisture condenses in the form of dew and can be seen on plant leaves and
grass. The entropy of the system in such cases decreases as liquids possess lesser disorder as
compared to gases. With reference to the second law, which statement is correct, for the
above process?

aféat & Ataw & 7 Fafad @ &l F T A g A1t §, 3 99 Hr gfeawi T g w

ST GFcl §1 37 ave 1 R & A (@) A et A F @ 1 FfF ga A dwf

JoAT A FA AETeSHT gl 1 SR I & Feal H s A F R P a3 ala
AT HYA T §?

e The randomness of the universe decreases. /deHIUS 1 aeRoHdr A FHY 3T %I

e The randomness of the surroundings decreases. / gy 1 aeRewar & 4T 3 %’I

e Increase is randomness of surroundings equals to the decrease in randomness of system. / IRA2r

 aeRowar # 3y, FFm 6 IRoFar & FA F T @ ¥

e The increase in randomness of the surroundings is greater as compared to the decrease in

randomness of the system./qRaeT H FrefCaHdar £ ) E[@', e fr aeRowar # w3 Jefelt
# afow gt #

Correct Answer :-The increase in randomness of the surroundings is greater as compared to the

decrease in randomness of the system./dRAA Hr IreeSHar q aj?, e Y Fefewar & F@
gerar # 3 gl 8

28)
Question Stimulus :-

In a multi layered close-packed structure-
S SgRdIT Afes apes waean A-
e There are twice as many tetrahedral holes as many close-packed atoms/ ﬂﬁ'tﬂ' ﬁlﬁg Wﬂ'
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TATILHT § QI TThorh 3% B

e There are as many tetrahedral holes as many closed packed atoms/ Jgf 4T fafag Tg;ﬁl?-l' qwug:ﬁ F
T TR B B

o There are twice as many octahedral holes as many close-packed atoms/ ﬂﬁ T ﬁlﬁ?; Wﬂ'
A3 & G HSeHah T B 2

e There are as many tetrahedral holes as many octahedral holes/ ﬂﬁtﬂ' FThahT B F
TR ThehT D5 T

Correct Answer :-There are twice as many tetrahedral holes as many close-packed atoms/ WJ T
fafas e AT § A T e g 1

29)

Question Stimulus :-

For the reaction H, (g) + Br, (g) — 2HBr (g) the experiment data suggested that r = k[H;] [Brz]l/ 2,
The molecularity and order of the reaction are respectively.

HRTHAT H, (g) + Br, (g) ~ 2HBr (g) ¥ fT IR 3TH3 r = k[H,|[Br,]'/2 v arw § AAfATFar &
fore srerer: srorETar 3 AfAfRaT fr Ffe Fma FA.

e 2,3/2

o 3/2,3/2

e Not defined, 3/2

e 1,12
Correct Answer :-Not defined, 3/2
30)
Question Stimulus :-

Ligands are:
ICUCEICES
e Lewis acids/ 3!3’8’ HFeT

e Lewis bases/ Fl‘:éﬂ' &
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e neutral. 3G/
e None of these/ sﬂ'ﬁ' a Elflé' 8

Correct Answer :-Lewis bases/ J[$H &R

31)
Question Stimulus :-

The number of geometrical isomer of [Co(NH3)3(NO3);] are:

[Co(NH3)3(NO3);| & SHIfRET GATaHdl i §E&aT §:
e 0
e 2
3
e 4
Correct Answer :-2
32)
Question Stimulus :-

Which is not a ™ -bonded complex?

foesT & @ FIQ T afPea wge A€ R

Zeise's salt/SIA| dq0T

Ferrocene/ BT
bis(benzene) chromium/ﬁq (ﬁGﬁ?l')aﬂﬁ'ﬂﬂ'

Tetraethyl lead/agl'ﬂ'fim' CES

Correct Answer :-Tetraethyl lead/ﬁ@TQﬁTvl’ CE

33)
Question Stimulus :-

With dilution, the equivalent conductance of
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Which one of the following statements is correct.

“TATAT qGaT I JoAThY AT :
At sl sy @ e

e Both strong and weak electrolytes decreases/9del d gﬁ?l’ G m & QT gedt %

e Strong electrolyte increases while that of weak electrolyte decreases/ Yeel 99T $r Tedr g
UG gael U Y gee ¥

e Strong electrolyte decreases while that of weak electrolyte increases/ Yol 399CT fruedr g
U9 g e ATy H T5ll §

e both strong and weak electrolyte increases/ Ydel @ gé?l’ g m & faw El'aEﬁ' T

Correct Answer :-both strong and weak electrolyte increases/ el d g‘ci?‘l' G| 3TCI'EIE:JT & fav
Tgdt §

34)
Question Stimulus :-

The unit of equivalent conductivity is?
qEAThY ATeTHT Y SHTS 52
ohm cm /317 @Y

ohm™! ¢cm? (g equivalent)_1 / 3tter ! Y (ame ?:la?q'iﬂ?)_l

ohm ¢cm? (g equivalent)/31# a2 (aH ?-_l_,WH-T)

S cm~2 |ISHT TH2

Correct Answer :- ohm™! cm? (g equivalent)_1 / 3] @Tﬂz (TmH E_],Wiﬂﬂ_l

Topic:- Botany
1))

Question Stimulus :-
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Tuberculosis is caused by?

qafes o1 frad gar 82

Bacteria/ GﬁE'UI g

Virus/ fasmor &
Fungi/®da® &

Mycoplasma/ FATSHICATSHT &

Correct Answer :-Bacteria/ sﬁaw; ¥
2)
Question Stimulus :-

What is the other name of PPLO?
PPLO &T @RI A 4T 2

e Bacteria/ GﬁHTUI

e Cyanobacteria/ H|TSall dfFefar

e Mycoplasma/ ATSHICATSHT
e Virus/ ﬁ'ﬂTUI

Correct Answer :-Mycoplasma/ HATSHICATSHT
3)
Question Stimulus :-

Late blight of potato is caused by?

3T H SeavATdl A Qa1 FFEd @er &2

By Alternaria/ 3TeetIRAT F ART

By Phytophthora/ BISSIFIRT & G@RT

By Albugo/ Teadll & G@RI

By Puccini/ 9FHfaar & g@rr
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Correct Answer :-By Phytophthora/ BTSEIFIRT & G@RI

4)

Question Stimulus :-

Puccinia graminis is a heteroecious fungus because?

ydifaar dfRfaw, ReRaw Faw Fai 2

e It completes its life cycle on barberry/dg Y=l Sded U% had IR & 9 g sydia FIar gl

e It completes its life cycle on wheat only/Jg§ 39T Siged T FHad fli & ol ¥ sacdla Far B

e It completes its life cycle on wheat and barberry/Jg 39eIT Slidel T ﬁ%: IR TR F ol @

Qo &¥ar §1

e It completes its life cycle in the soil/ &g 39T Mael I AN 7 qob Far B

Correct Answer :-It completes its life cycle on wheat and barberry/dg 39T Siiael T ﬂ‘i:.'\: IR RS

& ol 9T qui & ¢

5)
Question Stimulus :-

Agar Agar is obtained from?
IR-3R el e fanar smar @2
o Gelidium/ freif3as &
L Polysiphoniammm a
e Sargassum/ TGMHHA &
¢ Fucus/ ¥g&yd £ )
Correct Answer :-Gelidium/ fFreif3aar &
6)
Question Stimulus :-
Gemma cup is found in?

ST F e ety ar &
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e Riccia/ Rfewar &
e Anthoceros/ TeRANT &
e Marchentia/ ARE=rAT H
e Polytrichum/ Qelles®Ha &
Correct Answer :-Marchentia/ FRheaT &

7)
Question Stimulus :-

Amphiphloic Siphonostele is found in?

TATSE AR Rrad e &
e Selaginella /fAafa=tar A
e Lycopodium /dTSaifsas )
o Marsilea /ATRATAT &
e Equisetum /ZFNfAcH &
Correct Answer :-Marsilea /ATRIfoaT &
8)

Question Stimulus :-

In which trees are Prop roots found?
WERT o2 e 93 F arf Sl &

Mango tree /3TH & 93 q

Banyan tree /@31¢ & U8 #

Gulmohar tree /?lT*l'JfIET & Us o)

Guava tree /37H%G & 95 &

Correct Answer :-Banyan tree /@31 & 9% &

9)
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Question Stimulus :-

Conjoint, collateral and open vascular bundle is the characteristics of?
e Monocot root/TshdlsT I oS
e Monocot stem/Thdtst THT TAT
e Dicot stemﬂmﬁm ot
e Dicot rootm oS
Correct Answer :-Dicot stem/GfadISTI=1T T

10)
Question Stimulus :-

Egg apparatus consists of?
HUS 3YFIOT A FiT Fla T FRAFC g F2
o Egg/3798 HIfAHT
e Egg and antipodals/3798 HIfA%T 7 vodgisa HIfAwT
e Egg and synergids/3798 ®IfAFT T HTIH HAST
* Polar nuclei/tJa@ Foadh
Correct Answer :-Egg and synergids/3798 HIfAFT T TS HITAHT

11)
Question Stimulus :-

Syngenesious cohesion of stamen is found in?

T FrRew Fad gHa & a5 a8
e Coriander/&arfardr
o Helianthus/‘{{ﬁﬁ@

° Datura/ﬂ?l‘\Tl'
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e Mustard/A3aY

Correct Answer :-Helianthus/ﬂ:{T:rl'Jfl;@"f

12)
Question Stimulus :-

Which of the following is a phylogenetic system of classification?

fmfaf@a & ¥ slqur aeifeor weaeAes &
Lindlay/fa=ser

Bentham and Hooker/d=dsT TF QT{'

Linnaeus/fafaad
Hutchinson/%ﬁ'?-'ﬂ?l'

Correct Answer :-Hutchinson/gR=ae

13)
Question Stimulus :-

In which family areTetramerous flowers present?
e T e g 3 TR I B

e Brassicaceae/sHhdT

e Malvaceae/HTedH!

J Ranunculaceae/ﬁﬂw

e Solonaceae/ATeAledY

Correct Answer :-Brassicaceae/a@dIaaY

14)
Question Stimulus :-

A plant that belongs to Liliaceae in which stipules are modified into tendril is?
fafaweht o & frw dld & Rdeyew fega & wueala & sma &
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* Yucca/gFl
o Lilium/faferas
e Gloriosa/Fe AT
o Smilax/TATAFH
Correct Answer :-Smilax/THTAFH

15)
Question Stimulus :-

What is the other name of Numerical taxonomy?

Al FRAE F fEfaf@d & @ aw @ o o o &
e Chemo taxonomy/ fARFAITAT
e Cyto taxonomy/ HISEIEFHIATHY
e Taximetrics/ TFdATEFH
e Sero taxonomy/ ¥RY FAYATAT
Correct Answer :-Taximetrics/ TFdAfeFT

16)
Question Stimulus :-

Which organelle is called the ‘power house’ of the cell?
Fa FR&ET F FRAHT F 1 aFaTw Faa B

Endoplasmic reticulum/3fedged STfaieT

Chloroplast/FARICATES

Nucleus/Fegd
Mitochondria/ATgelhI =g 4T

Correct Answer :-Mitochondria/ATSEIh =T

~

17)
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Question Stimulus :-

Plasma membrane is made up of?

AT Breeh fFad &= Xt &2
Lipid/fafds

Protein/9TéeT

Lipid & Protein both/fafs g 1 =t &

Starch/GeTa &
Correct Answer :-Lipid & Protein both/fafds 7 W= gt &

18)
Question Stimulus :-

Polytene Chromosome are found in?
el IO (AR Afey) fFEd o S E
e Salivary gland of insects/PIE 1 IR AfeT F
e Egg cells/3708 HIfAFT q
o Ooceytes/FATSEH H
e Somatic cells/®TRA® FART &
Correct Answer :-Salivary gland of insects/®e & aR afer F

19)
Question Stimulus :-

In metaphase stage, metacentric chromosome appears in which shape?
ATl HTEYT H ATRATVeF FAHT FH 3FR F @ a1 &

e ‘I’ shape/‘I’3ThIY 7

e ‘L’ shape/‘L’3TR J

e ‘V’ shape/‘V’3ThIY q

http://localhost:61852/ 66/85



11/24/2015 localhost:61852

e ‘J’ Shape/V’ITHR &
Correct Answer :-‘V’ shape/*V’3T6R &

20)
Question Stimulus :-

Which one is not found in DNA?

f T & @ DNA & Fa1 7t arm e @2
Adenina/‘lﬁ?ﬂs?l'

Cytosin/mgfm'lg?l'

Uracil/?l‘?ﬁﬂ'

e Couanine/3amaleT

Correct Answer :-Uracil/Zfae

21)
Question Stimulus :-

Which one of the following is produced through transcription?

freafaf@a & @ sgaEs & a1 F41 Foar

m RNA.

r RNA.

t RNA.

hn RNA.

Correct Answer :-m RNA.
22)

Question Stimulus :-

The theory of use and disuse was given by?

39gNT 3R IreqaAT F e fheer R ar
e Lamarck/d#HTH o
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* Aristole/31T¥d a
e Darvin/3ifds o
o Stebbins/Eefa=q ¥
Correct Answer :-Lamarck/d#Td

23)
Question Stimulus :-

In which form plants, obtain nitrogen from soil?

gl g & Ao & w7 agor w9 &
e Nitric acid/aTgfew wfds

o Free Ny/fFd sATSEIsiel

Correct Answer :-NOj

24)
Question Stimulus :-

What is the end product of glycolysis?
TGRSR FT AFfeanw 3curg F41 &2

. Glucose/’?ﬁ-ﬂﬂ'

J Oxygen/Bf'I?vFﬁGl?l'

e CO,

e Pyruvic acid/ 9w+ iz
Correct Answer :-Pyruvic acid/qTa&a® Tfag

25)
Question Stimulus :-
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Water available to plant is?
gleY H FAe= arem S Fia @ gar &

e Hygroscopic water/3TgdTaTer STel

e Gravitational waterw STl

e Capillary water/&f%ca STel

e Chemically combined water ATHTI A% oS s
Correct Answer :-Capillary water/&fd%ca e

26)
Question Stimulus :-

The seed that require light for germination is called?

e it 1 JFor F A S A raRAHAT et 2
e Inactive seed/37fhT i
e Photo blastic seed/®IeY FeTiEcad ol
* Dormant seed/{vd Cic )
e Active seed/Afha disr
Correct Answer :-Photo blastic seed/®el Fellieecs dier

27)
Question Stimulus :-

Which part is affected by Fluoride pollution?
FARISS YUUT ¥ AT FAT IHIRA g 2
o Teeth/ald
e Brain/f&#ATeT
* Kidney/d&®

e Heart/ggd
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Correct Answer :-Teeth/ald

28)
Question Stimulus :-

Which species is the endangered species of Indian medicinal plant?
sTE el o Y Rreea woe Fh @ &

. Garlic/agg?l'

. Ocimum/?_l}l?ﬁ

o Nyctanthusm

o Podophyllum/ NEGZATH

Correct Answer :-Podophyllum/ MSIwIgeH

29)
Question Stimulus :-

The first plant stage of succession is referred to as?

YGT [HAVT HT Tgel JHIEAT FAT FgaTdl o7

Pioneer./ 9ga SWs1 arell

Precursor./ 9gel & &Il el

Sere./ AT

None of these/ Bﬂ'ﬁ' ) Hﬂé’ Tl

Correct Answer :-Pioneer./ 9gel a0« arell

30)
Question Stimulus :-

Soil conservation is performed by?
HeT TR&ToT H{ FRar Sar @
e By plantation/98 #MTHT
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e By cutting trees/93 FHICHT

o Excessive grazing/37caf&«

e By heavy irrigation/37caf&I® s
Correct Answer :-By plantation/93 &3THT

31)
Question Stimulus :-

Bran oil is obtained from?
T Ao Fad @ smar &
. Straw/ﬂ@' o
e Husk of Paddy/aTael & g% &
¢ Roots of Paddy/aTael &I 515 &
o Wheat/?ﬂ%: q
Correct Answer :-Husk of Paddy/@Tael & g &

32)
Question Stimulus :-

Bamboos is?
a9 F4T
o Tree/da&T
e Herb/2
. Shrub/%ﬂ?l’
o Tallest grass/Aad >4l €17
Correct Answer :-Tallest grass/qad Fel °TH

33)
Question Stimulus :-
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Quinine is obtained from?

Fael A o A STt 2
Withania/[aaf@ar @

Cinchona/fRAsTHaT &

Artopa/TeXdT &

Rauwolfia A3 fewar &

Correct Answer :-Cinchona/fQsTaiT &

Topic:- Zoology
D

Question Stimulus :-

In order to escape from their enemies animals imitate other animals. What is this phenomenon called?
o R ¥ 99 & O ST & qEy ofat @ ave @ 1 9fe F T FE e §7

* Adaptation./ 3sJsheleT

* Mimicry./ 3TeJh{0T

* Homology./ 3sT&9dT

e Expression./ 3fRcaf@d
Correct Answer :-
Mimicry./ 3]s 0T
2)

Question Stimulus :-

Which one of them occurs in Echinodermata?
ST ¥ FUT YEEHAT A URIT AT §?
e Bilateral symmetry./ aﬁ’q&ﬂ'ﬂ' HHAIYAT
e Porous body./ SAIHAIT R

o Lateral symmetry./ deIel HHSIT
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e Radial symmetry./ If39e FHSIAT
Correct Answer :-
Radial symmetry./ 339 FHSIAT
3)
Question Stimulus :-

In which fish Tube feet is found?

g W FiT d AGel H qrT S 82

Cray fish./ & foar

Star fish./ ¥R fher

Cat fish./ < frer

Jelly fish./ ey forer

Correct Answer :- Star fish./ TeR fther

4)
Question Stimulus :-

In which of the following animals nerve cell is present but brain is absent?

I @ FiT T T & WX & A9 AV a1 &, W Afeass 817
Butter fly./ fadreit

Hydra./ g1g3T

Earthworm./ aﬁr;’an

Termite./ STHE

Correct Answer :-Hydra./ §1g3T

3)
Question Stimulus :-

Canal svstem is characteristic features of which phvlum?
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AEY YOTel 3aAA & foradhr faetwar g7
e Echinoderms./ Tf&Ha1ss
e Sponges./ T
¢ Arthropods./ srafarsT
e Mollusca./ HTATEH

Correct Answer :-Sponges./ Tt

6)
Question Stimulus :-

Which scientist introduced the term “Ecology”/("(")kologie") ?

fra defas a qIRTEAfAFr aeg &1 FEwgH 399 fwar ?

Claude Bernard./ F138 18

Jean-Baptiste Lamarck./ SieT dftewe AR
Charles Darwin./ 9Teq sifde

Ernst Haeckel./ 3TeE¢ ehol

Correct Answer :-Ernst Haeckel./ 3/7€C %ﬁ'

7)
Question Stimulus :-

Which National Park is located at highest altitude?
Flaar T 35T FeE FA$ W FUa g2
o Kaziranga National Park./ STl TSI 3¢t

 Sunder ban National Park./ eaIdeT TS ELUIG

« Hemis National Park./ §/@9 TI'@'!T 3¢t
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« Kanha National Park/ #TegT TSI 36ATT

Correct Answer :-Hemis National Park./ §/&d IS 3¢t

8)
Question Stimulus :-

When cubs tremble down in fear due to fluttering of leaves and later they learn to disregard it. This
learning is termed as:

I3[ AGF Tedl F FIESH F T I qaF AN § T 915 A AT €A A & 3 FHPT 398 FEw
W o &1 59 dwa fY 9T F 7= FEa 82

Adaptation./ 3eJdqdT

Habituation./ IT&del

Imprinting./ 3ThETOT

Conditioning./ 3TeJdhefel

Correct Answer :-Habituation./ 3IT¢gdel

9)
Question Stimulus :-

The study of the Circadian rhythms is known as:

“RTFIIT R & reaasT F F:A1 Fgad 82
Neurology./ GIECORCEIC)

Microbiology./ §&HTI7TT
Ecology./ aRfufasr

Chronobiology./ PIAEIATATST

Correct Answer :-Chronobiology./ AT

10)
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Question Stimulus :-

What is the method of Bee keeping?

AyFFE! g A QAT F F1 Fga &2

Sericulture./ Y& eal

Silviculture./ fAerdidedy

Apiculture./ TfideaR
Pisciculture/ fiHiheax

Correct Answer :-Apiculture./ TR

11)
Question Stimulus :-

Study of Insects is known as:

1T & FEIYA H FIAT Fgd &7
Entomology./ #refaarT
Holography./ @i IThY
Serology./ RATAATT

Myology. / Fefifa=reT

Correct Answer :-Entomology./ Hrefaaarer

12)
Question Stimulus :-

Who introduced vaccine for small pox?

A9F & dF i G foraa & A7
¢ Louis Pasteur./ gﬁ'&l’ RILELE

¢ Alexander Fleming./ HAFAST Tl TR
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e Koch./&rg
e Edward Jenner./USds AT

Correct Answer :-Edward Jenner./U8ds Siai{

13)
Question Stimulus :-

What is Chromatography used for?

FAAIATH FF T=ART H =T AT 82

Test solution./ BYeT <Y GI&TOT

To bring change in mixture composition./ fR3oT & TT=IT # gRade arer

From mixture./ {8101 94 "

Separation of pure substance from a mixture./ g geref &Y FASOT & el F3 A

Correct Answer :-Separation of pure substance from a mixture./ g gere FY fFASOT & 37erer I A

14)
Question Stimulus :-

In histology which substance is used to harden tissues?

IcdhT dasle 5T 9SS T 3YANT 3cdd! T FOR Fld A HeF 87
Paraffin./ 31RpeT

Bees wax/ AYAFHE! HT AA

Wax./AH

Alkane/ Tedhe.

Correct Answer :-Paraffin./ ﬁrrﬁr«r

15)
Question Stimulus :-
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In preservation of skin of animals, what is the process of stuffing and mounting called?

JFeq A T H WAT FA F A FoRor AR 3o fFar e §, 57 Far F 741 Faa §2
Taxonomy./?.'ﬁ’l'ﬂ"ﬁﬂ

Tanning./ eforar
Taxidermy./ dFHis#HY
Mycodermy./ ATFIHAT

Correct Answer :-Taxidermy./ et

16)
Question Stimulus :-

What is the study of the development of Gametes, Embryo and Fertilization called?

Ioaw, et 3R our & e & Ireawe ) F41 FEa 87

Anatomy./ TATCTHT

Development Biology./ f@&maca® shta e

Embryology./ 30T CEiC)

Astronomy./ @ 7T

Correct Answer :-Embryology./ 30T ICEIC)

17)
Question Stimulus :-

Which is the primary layer of cells that form during embryogenesis?

PR fr wia @ o aor AT F SR q= el 82
e Germ layer./ STH R
e Blastula layer./ SITHCT 9T

o Adipose tissue./ IHT Idh
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o Epidermis./ sy
Correct Answer :-Germ layer./ ST 9Xd

18)
Question Stimulus :-

Deficiency of which vitamin leads to calcium deficiency?

R #F HFforw A w7 fFw R fr w0 T 8y &2
Vitamin B./ Ref@« B

Vitamin C./ f@erf@«T C

Vitamin E./ ReATE

Vitamin D./ f@erf@<T D

Correct Answer :-Vitamin D./ fQefAsT D

19)
Question Stimulus :-

What is a Fertilized egg called?
T 32 & Fa1 Fga 2
Oogenesis./ EEECC)

Gametes./ JIHR

Zygote./ JIHAeTeT

Ovule./ EﬁGlTUI

Correct Answer :-Zygote./ JIHTeTel

20)
Question Stimulus :-

Which one is the basic functional unit of human Kidney?
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A @ T ¥ AT & FT ACT FECAS SHS 87

Henle’s loop./ gl qrer

Nephridia./ AT

Nephron./ APl

None of these. / Eﬂﬁ' ) aﬂé Fl?l'

Correct Answer :-Nephron./ Cprac

21)
Question Stimulus :-

What is the cause of blood clotting?
T FT qFH 34 O FFad FROT Qe 872
o Corpuscles./ CalEoLy
e Thrombocytes./ YIFAIHISEH
e Heparin./ 9TReT
e Plasma./ CIToHAT

Correct Answer :-Thrombocytes./ qTFRIATZCH

22)
Question Stimulus :-

Kupffer cells are found in which organ?
FEL NS w3797 7 18 ATl 3 2

o Spleen./ faeelt

e Liver/ PR

e Kidney./ ga‘r
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e Brain./ ATCdSH

Correct Answer :-Liver./ fTS9IX

23)
Question Stimulus :-

Which of the following enzymes are used to join fragments of DNA?

3T & FlT W Teaed NTAT &F THIT H SANSAT 872
Primase. / UTSHST
DNA Polymerase./ STTAT YTl 13T

DNA ligase./ S1TTT AT
Amylase./ THIS A

Correct Answer :-DNA ligase./ AT AT

24)
Question Stimulus :-

In which type of organism meiosis takes place?

It faemee fre aE & She & 9 9§72
e Haplod./ 31’{@3’
« In haploid and diploid both./ 33[fOrT T EfaaTore Xt
« Diploid./ gfafora
¢ None of these./ s?l'cﬁ' AP Tl

Correct Answer :-Diploid./ gfa[fora

25)
Question Stimulus :-

Which organelle is known as the '"'suicidal bag' of the cell?
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FIRAFT & FH 71 AN Ireard’ dar F71 A1aT §?
Mitochondria./ ATESIHITSAT

Endoplasmic Recticulum./ TUSIcHTisH® YFehasn
Lysosomes./ ATSATHIH

Vacules./ ﬂ?qya

Correct Answer :-Lysosomes./ SITSE AT

26)
Question Stimulus :-

Which was first successfully cloned animal?

AHAATaF FAVIH Falled BFar T FiT &1 AR 412
J Monkey./éaT
« Rabbit./ @I
e Tiger./2R
o Sheep./ #%

Correct Answer :-Sheep./ a3

27)
Question Stimulus :-

Which of the following technique is used in DNA finger printing?
DNA fingerprinting # Fi H deheltd gARr # Rt ST §2
e Chromato Graphy./ HIHERITHY
e Spectro photometry./ Fﬂﬂ-@'ﬁfmﬁ
e Southern Blotting./ HcsT selTfear

o Flow Cytometry. / FAIATSSIACT
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Correct Answer :-Southern Blotting./ HeoT seATeal

28)
Question Stimulus :-

What is Darwin’s theory of evolution is based on?

sifda &1 farw &1 Rgia fFa W mafRa &2

o Transmission of acquired characteristics./ 39Tfote freryan3it 1 TUTaRT

Natural variation./ ‘ilﬁjﬁlﬂ? ICIE GGG

Natural selection./ Fﬂﬂjﬁﬁ? qgol

Both Natural variation and selection./ mﬂjﬁﬁ? affeaar 3-ﬁT FI'ITFCI'@I’T ) Eﬂ?-ﬂ'

Correct Answer :-Both Natural variation and selection./ Fﬂajﬁﬁ? affeaar 3ﬁ'{' ‘Jlﬁjﬁﬁ? ol EFIT

29)
Question Stimulus :-

Fossils are found in which types of Rocks?

Shand 58 yoR & TEEl & 9™ 19T 82
Metamorphic./ FATART

Igneous./ 33

Sedimentary./ 3IGHTET
All of these./ 3T T

Correct Answer :-Sedimentary./ FqaTdr

30)
Question Stimulus :-

In which Geological period the earths become oxygen rich?

FiT @ sdenfas rafr & qelt & sfediee ggv AT A 9l Sl 82
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¢ Ordovician period./ eafTeT srafer
e Devonian period./ 3aYfageT 3rafer
e Orosirian period./ 3TNTARTT 3rafer
o Ediacaran period./ Tf3qT&oT 31afer
Correct Answer :-Orosirian period./ 3NATARTT 3rafer

31)
Question Stimulus :-

Which one is an aromatic Amino acid?

gH ¥ Pl A1 GgER A vRas §7
Arginine./ SIS

Lysine./ dT3faeT

Tyrosine./ ETENTAT

Taurine./ T3

Correct Answer :-Tyrosine./ TSUAT

32)
Question Stimulus :-

The salivary Amylase enzyme helps in the digestion of which substance?

TASA TATSS USISH fhd 9erd & 9raed # #Agg a¥dT g7
Starch./TeTE

Fat./ddT

Protein./9TdlT

Fibers./ BIgdaY

Correct Answer :-Starch./ET=T
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33)
Question Stimulus :-

Who coined the term “cell”?

"FIAFT" Aeq HT FAVIH Faa g1 fwam?

Robert Hook./ €TE gﬂ?

Robert Holley./ & g

Howard Thomas Odum./ g/ds ITHY 31sH

Edward Tatum./ USds eH

Correct Answer :-Robert Hook./ ﬂiﬁt §H~T
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